What is the perimeter of a square with area 81?��(A)  18	(B)  16	(C)  36	(D)  25	(E)  NOTA


A restaurant prices their pizzas proportionately to the area of the pizza.  If a pizza 18 inches in diameter costs $18.00, how much would a pizza 12 inches in diameter cost?��(A)  $8.00	(B)  $12.00	(C)  $10.00	(D)  $9.75	(E)  NOTA


What is the volume of a pyramid with a square base with side length 4, and a height of 12?��(A)  112	(B)  16	(C)  48	(D)  64	(E)  NOTA


A right triangle has a leg of length 15, and another of length 8.  What is the length of the hypotenuse?��(A)  16	(B)  17	(C) 18	(D)  19	(E)  NOTA


An equilateral triangle is inscribed in a circle of radius 7.  What is the area of the triangle?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


In a rhombus, the product of the lengths of the diagonals is 28, and the sum of the lengths of the diagonals is 17.  What is the area of the rhombus?��(A)  28	(B)  14	(C)  17	(D)  11	(E)  NOTA
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What is the length of arc RS if the radius of the circle is 14?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Pentagon A has sides of length 14 and an area of 22.  Pentagon B is similar to pentagon A, but has sides of length 7.  What is the area of pentagon B?��(A)  11	(B)  12	(C)  � EMBED Equation.2  ����(D)  cannot be determined	(E)  NOTA


A right triangle has legs of length 12 and 5.  What is the length of the median to the hypotenuse?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A triangle has a side of length 15, and a side of length 8.  How many integral values are possible for the length of the third side?��(A)  15	(B)  16	(C)  17	(D)  18	(E)  NOTA


A triangle with base 9 and height 18 is truncated by a line parallel to the base, 6 inches from the base.  What is the area of the trapezoid remaining after truncation?��(A)  27	(B)  36	(C)  40.5	(D)  45	(E)  NOTA


A square is inscribed in a circle of radius 17, and another square circumscribed about the same circle.  What is the ratio of the area of the inner square to that of the outer square?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


The radius of the base of a cone is tripled.  By what number must the height of the cone be divided if the new cone is to have the same volume as the original?��(A) � EMBED Equation.2  ���	(B)  1	(C)  3	(D)  9	(E)  NOTA


A picture of width 15 cm and height 22 cm is framed in a frame 2 centimeters wide.  What is the area of the frame in square centimeters?��(A)  156	(B)  148	(C)  180	(D)  164	(E)  NOTA


A circle of radius 22 has its center 45 units from the center of a circle of radius 49.  What is the length of their common external tangent?��(A)  36	(B)  40	(C)  44	(D)  56	(E)  NOTA
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Find the measure of angle A in the figure if lines 1 and 2 are parallel and lines 3 and 4 are parallel.��(A)  27	(B)  153	(C)  90	(D)  54	(E)  NOTA


18 points are distributed in a plane, no three of which are collinear.  How many lines are determined by these 18 points?��(A)  306	(B)  135	(C)  153	(D)  198	(E)  NOTA
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The measures of the angles of a triangle are in the ratio of 4:11:5.  Which of the following is the measure of one of the angles?��(A)  99	(B)  35	(C)  48	(D)  120	(E)  NOTA


Given the two intersecting secants, PR and RT, to circle O, what is the length of ST?��(A)  10	(B)  13	(C)  8	(D)  16	(E)  NOTA


What is the acute angle between the hands of a clock at 4:20 PM?��(A)  10º 	(B)  0º 	(C)  7.5º 	(D)  12.5º 	(E)  NOTA
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Lines AB and CD are parallel. What is the value of x, in degrees, if the measures of the angles are given in degrees?��(A)  40	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  24	(E)  NOTA


A triangle has its vertices at the points A(0,1), B(5,3), and C(2,8).  What is the equation of the line which contains the altitude to side BC?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A triangle has vertices at the points (5,3), (8,2), and (14,22).  What is the area of the triangle?��(A)  31	(B)  32	(C)  33	(D)  34	(E)  NOTA
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�Determine the maximum possible degree measure of angle E in the figure if AB = BC = CD = DE.��(A)  90º	(B)  60º	(C)  45º	(D)  30º	(E)  NOTA


If the measures of an angle and its complement are in the ratio of 1:5, what is the measure of the angle’s supplement?��(A)  165	(B)  150	(C)  145	(D)  135	(E)  NOTA


The sides of a triangle are 18, 22, and 14 cm.  What is the length, in cm, of the altitude to the 18 cm side?��(A)  � EMBED Equation.2  ���	(B)  12	(C) � EMBED Equation.2  ���	(D)  13	(E)  NOTA


A sphere is circumscribed about a cube with edge length 12.  What is the volume of the sphere?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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Find the length of EF if AB, CD, and EF are all perpendicular to AC and the length of AC is 19.��(A)  6	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  7	(E)  NOTA


What is the perimeter of a regular polygon whose interior angles each measure 165, and a side of which is 7 units long?��(A)  133	(B)  147	(C)  154	(D)  168	(E)  NOTA


A circle with area 72 p is inscribed in a triangle with perimeter 34.  What is the area of the triangle?��(A)  � EMBED Equation.2  ���	(B)  144	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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